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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. General Part-111 Examination, 2020

EcoNoMmIcs

PAPER-ECOG-IV (A+B)

Time Allotted: 2 Hours Full Marks: 50
Thefiguresin the margin indicate full marks. efifer T FGZ TG 2T e T 1
Candidates should answer in their own words AN [ACG G T FET TN T
and adhere to the word limit as practicable. e FEE |

All symbols are of usual significance.

GROUP-A
Tott-=
1 Answer any one question from the following: 5x1=5
s @-Fia 9315 eltaa Tex wies
(8 What is meant by decentralisation of development?
TR fRcdalael 9e10e 6 QAN 9

(b) Is per capita income an approximate indicator of economic development of a
country?

RIfPg RS [ @eT (e Sitfoss Saaces 71 75 I T 9

(c) Distinguish between labour intensive and capital intensive technology of
production.

o ARG @ 2fARE Seoive (Tt T AL (s

(d) What is Human Development Index (HDI)? What is its importance in
devel opment studies?

R TF o FICF A0 2 T {1 BB @2 ol 9P & (0 |

2. Answer any one question from the following: 4x1=4
feferie @-ciet @ o eltew Te nies
(8) Discuss the effects of gender discrimination on the economic development of a 4

developing country.
Tazere (RCeid SILOF SR ot (AN 2SR e S S|

(b) Explain the role of technology in the agricultural development of a developing 4
country.

G5 SERIFE (T PRICFA Teoiod (0T 2 [&= il i 1N
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Answer any one question from the following:
e @-@IE @5 207 T mies

Discuss the theory of demographic transition. What are its different stages?
TR AT e Ogt Iwifde S S| @3 [ifew ofme e 5 75
Mention two arguments each in favour of and against the unbalanced growth

strategy in the economic development of a developing country. Briefly explain
the theory of “big push” of development in this regard.

TRIE (MO SRR S SjRTS ST S (b A1e @ Reiew uft 03 I wie
O3 AT TR (T LI ©0GIo IRCFHC I FCA |

What is capital formation? What are the obstacles in capital formation in
devel oping economies? How to remove them?

TR 910w FeCe [ Q@I 9 Srmeriel Sfaifere e e oweg el [ & o
P11 TRIFACER Ml T/ SN |

What is import substitution? State arguments in favour of and against import
substitution in developing economies.

Smife Pffaset T 0 2 Txe SdAifeeihe wmi cfieser ¢oicF ¢ Reics
Ferafer el

GROUP-B
Rretat-2
Answer any one question from the following:
feaferiie Q- @6 @esw Tex wies
Write short note on Bar diagram.
TPl TCle meteel|

What do you understand by questionnaire? State the central points observed in
drafting a good questionnaire.

2N FET00 I QIR 2 GFH Sl RN T! 0O FACO I B [RGW W A0S T3
©f 3 e

Distinguish between:
AL (TS
(i) Variable and Attribute
BRI € ST (g
(if) Population and Sample
LT G Tl
Distinguish between vertical Bar Diagram and Histogram.
WY @ RIS ) 2L fefgioiel T

16x1 =16

6+10

8+8

4+6+6

6+10

5x1=5

2+3

21x2=5
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Answer any one question from the following:
e @-@IE @5 207 T mies

Define Statistical Table and state the essentials of a good table with the help of a
suitable diagram.

@36 2R T el wie qR G0 T BHraq AR ARG =T
o erea sl [ige s

What do you understand by Central Tendency? Compare between its different
types of measurement.

U 2ol IO ! @I 2 (FHT 2R RIS RNSE ) Qo7 IR |

Answer any one question from the following:
e @-@e @35 e Ten wies

Discuss the important properties of Arithmetic mean. State the relationship
between Arithmetic mean, median and mode. Compute the value of Arithmetic
mean from the following data.

(T Sicee wrgeld (Rl SITvl Sl (A o1g, L @ IS A A
PR @TCAN 1 (T 90 TG faferiie ey (e foefa e
x[55[65[75]85]95] 105 [ 115
8[10[16]14|10| 5 | 2

Show that algebraic sum of deviations of the values from their Arithmetic Mean
is zero. Write the relative advantages of Geometric Mean and Harmonic Mean.
The mode calculated from the following frequency distribution is known to be 65.
Find thevalue of f; .

mte (Jfee o (T Ao Maelr [Rpfe s denifdfes wwE 7 weren
T ¢ e @l e ARa-spyRaiefs @l Tiwa seesd #fRerae [Remecm
TR N 651 f, e Tl

Height (Ininches) | ¢, 65 | 62-64 | 64-66 | 66-68 | 68-70
Tl (2%60e)
Frequency

12 f 32 16 8
AfRAI '

Write a note on Cumulative Frequency Distribution. Find out the value of median
from the following frequency distribution.

FACIF SR Rereas e2id 3 Bt @el fsfaie sifim e [ess
TR W el e

Value Less Less Less | Less | Less | Less | Less | Less
o than than | than | than | than | than | than | than
10 20 30 40 50 60 70 80
Frequency
4 16 40 76 96 112 120 | 125
AR
3

4x1=4

2+2

16x1 =16

6+2+8

4+4+8

8+8
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(d) What do you understand by measures of Dispersion? What are the different 3+3+5+5

measures of Dispersion? Write the advantages and disadvantages of Range and
Quartile Deviation.
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